BUNCER. Preparing 1 Door

BY DRAPER TOOLS Tall Cabinet

Stock No.

To make assembly easier we recommend having two 33165
persons aid one another in assembly.

Item Description Quantity
1 Top Panel 1
2 Bottom Panel 1
3 Left Side Panel 1
4 Right Side Panel 1
5 Back Panel 1
6 Door 1
7 Front Kick Panel 1
8 Side Kick Panel 2
9 Shelf Panel 4
10 Foot Holder 4
11 Leg Leveller 4
12 M8 x 16mm bolt 16
13 M6 x 16mm bolt 12
w | e

CABINET CONNECTION

Connect the side panels of two cabinets
with (4) bolt M6 x 16mm and nut M6,
and tighten with phillips screwdriver
(notincluded).

Note: remove the drawers and open the
doors before cabinet connection.




STEP 1:

Attach back panel (item 5)

to left and right side panels =1 = N
(item 3 and 4) by engaging the A o
holes on the left and right side - - I

panels with the corresponding - \ R
A Y A Y A ) A Y A Y A Y A Y A Y

hooks on back panel. i

— A STEP 5:

- oo Attach the front and side kick panel (item 7 and 8)
. to foot holder with bolt M6 x 16mm (item 13).

— 7 = _
e
L ||| STEPG:
Ve .| Obliquely place the four shelf
. I ’ panels (item 9) in the cabinet,
1 STEP 2: |- secure the shlef panels at four
I oo Insert the t | litem 1 . . desired heights by carefully
T . _nserh e_dop pznbe (|kem )I — inserting the shelf edges into
A Nl :-ntothe3|b(?anfl ac p;nes. dif | the flanges on left and right
Al- - ay the cabinet flat on the ground | /| side panels. Make sure each
r .| hecessany. | | shelfislevel.
= ° - \ 4 .
L— %EZTQ- -
I - STEP 7:
STEP 3: i - Place the flat washer (item 14) into the hinge pin, algin
. L ] the hinge pin on the bottom of the door with the hole on
Insert the bottom panel A Bl bottom panel, slowly and carefully insert the hinge pin
(item 2) into the side and back Al- into the hole. Algin the hinge pin on the top of the door
panels. Lay the cabinet flat on r ., with the hole on top panel, slowly and carefully insert the
the ground if necessary. A N hinge pin into the hole.

STEP 4:

Use packaging material to protect the unit. Attach

the leg leveller (item 11) to foot holder (item 10).

Insert bolt M8 x 16mm (item 12) through the foot holder
into the cabinet.

drapertools.com

Draper Tools Limited, Hursley Road, Chandler's Ford, Eastleigh, Hampshire. SO53 1YF UK.




